R32C/116, 117,118 Group lcc—f (CPU) (PLL mode)

Full active

Peripheral Function

In single-chip mode, output pins are left open
and others are connected to VSS

[Measurement condition]

8MHz

XIN-XOUT Drive power:strong

T (XIN)

Active:XIN, PLL
Stopped: XCIN, 0CO

3.3V, 25°C
5V, 25°C
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R32C/116, 117,118 Grouplcc-f (CPU) (PLL mode)

Peripheral Function = not operation

[
[<5}
o
o
)
[+
[}
[5)
} -
«©
[%2)
W
—_N
o>
+ O o
>+ c
o o
L] —
>0 O -+
— O +2 [%2]
[ o ..
o .o —
— O C <5}
+~ T C =
— O O o
T £ O o o
< O
o O o [b] — O
O = = > = -
< © — o=
= O N - —
[ ) o = O
O O - = — <
eE— O O — >x< - -
O b C 1= O
Ll S —~ O [<b I 5]
>0-— O = < > Q
w n — | —_
35} © < = + O
O C C ~ — Q +
= — © Y— < <<
—
O
Lo
N
L >
[3p]
[sp]
1l
Ll o
o
=
Lo (=) Lo o Lo o Lo o
<t <t (9p] (e} N N — —

[yw]oo|

15 20 25 30 35 40 45 50 55 60 65 70

10

5

[MHZz]

f (CPU)



R32C/116, 117,118 Group lcc—f (XIN) (During RESET)

Active:XIN, PLL
Stopped: XCIN, 0CO

3.3V, 25°C
5V, 25°C
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R32C/116, 117,118 Group lcc—f (XIN) (Wait mode/f256)
T T T

—Vce=3. 3V, 25°C
—Vce=5V, 25°C

[Measurement condition]
In single-chip mode, output pins are

left open and others are connected to VSS

f (CPU) =f (XIN) /256 MHz
XIN-XOUT Drive power: low

Active:XIN
Stopped:PLL, XCIN, 0CO
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R32C/116, 117,118 Group lcc—f (XIN) (Wait mode/f256)

—Vce=3. 3V, 25°C
—Vce=5V, 25°C

fXIN) [MHz]

[Measurement condition]
In single-chip mode, output pins are
left open and others are connected to VSS

f (CPU) =f (XIN) /256 MHz
XIN-XOUT Drive power :Super low

Active:XIN
Stopped:PLL, XCIN, 0CO



R32C/116, 117, 1118 Group lcc-Vec (Stop mode)

In single—chip mode, output pins are left open

and others are connected to VSS
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